Ul Y
erfil_20x20 Perfil Bosch L=283 7 {
erfil_20x20 Perfil Bosch L=433 2 2
842 523 508 Corngr Brocket] ¢ 3 —
| —
orner_Bracket_20x20 2 4 ;m poqg
[ESA01P.00S-JOINT 4 5 |
ESA01P.003-JOINT 2 6
ESA0LP.006-JOINT 4 7
ESAQ1.P.004-JOINT 3 8
ESAO0LP.00I-Haste 3 9
ESAQLP.00l-Haste { 10
ESA01.P.002-BUSHING 4 1
0 4762 M8 x 35 - 35N 4 2
asher [SO 7089 - 8 16 13
KF - 608 - 8,SINC,8_68 4 14
arra_Tracgao ! 15
ix0 2 16
erfil_20x20 Perfil Bosch L=3¢3 2 17
ESA0LP.004-JOINT 2 18
ESA01P.003-JOINT 2 19
ESA01.P.002-BUSHING 9 20
SO 10512-M8x1.0-N 8 21
tepper _am23hs3454-01_01 { 22
ort2"“Nema23-Reducer _v2 { 23
ort3"Nema23-Reducer _v2 { 24
X_Rolan { 25
KF - 6001 - 10,SINC,10_68 | 26
KF - 51201 - 8SINC,8_68 t 27
3012_1030 { 28
uso_Roscado { 29
ruarc 5100-46 - S0.469 { 30
erfil_20x20 { 31
loca de fixagdo ! 32 NEsions e on bterces B m 00 NOT SCALE DRAYING | I
orca_Casquilho { 33 ,Mgﬁ,“;gﬂ'w fces
LINEAR:
0 4762 M4 x 10 - 10N 6 34 1
0 4762 N8 x 40 - 2N 2 E8 T E— . e
0 4762 M8 x 25 - 2N 2 3% '
_NUT N6 4 37
0 4762 M4 x 8 - 8N { 38 | L VG
S0 10673-455-5 1 9 MESAOL.A.000-V 2l
SOLI - . : e

For :



8 / 6 | B 4 \ 3 2 [

Perfil Bosch 20x20x433 ﬁ
F ] T

®_ @ —
(D)

T~~Bracket 20x20 90°

Perfil Bosch 20x20x283 Perfil Bosch 80><80><883/

[ P +

|| —Perfil Bosch 20x20x283

Perfil Bosch 20x20x2
41,25

C
I
e
|1
— T
290,50
B ITEM NO. PART NUMBER DESCRIPTION QTY.
{ Perfil_20x20 Perfil Bosch L=283 4
2 Perfil_20x20 Perfil Bosch L=433 2 é&:@;‘:‘:ﬁﬁ receen s &2‘?&:’& 00 NOT SCALE. (RAYING REVISION
3 3 842 523 508 Corner_Bracket 20x20 { s
T 4 Corner _Bracket_20x20 7 " P R s
5 ME SA01.P.005-JOINT 2 ':‘;":
6 ME SA01.P.003-JOINT 2 )
A MG
7 ME SA01.P.006-JOINT 2 oA VATERIAL: W6 ND .
8 MESAOLP.004-JOINT 2 Estrutura Superior
SOLIDWORKS Fducational Product. VeI SOAETS [sazo i
1D | . ] \ 6 b 4 3 2 \ {

For Instructionat Use dnty.



F F 8 Pecas

#
*31%

|
A
S

3 8,0
!

J | L
|

— SECTION F-F

2 SCALE 2 : 1

6 Pecas

~

R\
&

SECTION G-G
SCALE 2 + 1

UNLESS OTHERVISE SPECIFIED:  |FINISH DEBURR AND
DIMENSIONS ARE IN MILLIMETERS BREAK SHARP DO NOT SCALE DRAYING REVISION

SURFACE FINISH: EDGES

TOLERANCES:
LINEAR:
ANGULAR:

NAME SIGNATURE DATE TITLE:

DRAWN
CHK'D

APPV'D

A [we

0A MATERIAL: DVG NO.

Bronze Fosforoso CQSC]UM/WOS

WEIGHT: SCALE:H | SHEET 3F 4

SOLIDWORKS Educeftional Prioduct. 3 P | |

For Instructional Use Only.



38 \ 6 4 3 2 {
F
£
= |
a »
o
D
¢ % ITEM NO. PART NUMBER DESCRIPTION qrY.
{ Perfil_20x20 Perfil Bosch L=283 2
2 Perfil_20x20 Perfil Bosch L=323 2
L \ 3 ME SAO1.P.004- JOINT 2
323,00 4 ME SA01.P.005- JOINT 2
@ 5 MESAOLP.003-JOINT 2
B 6 ME SAO1.P.006- JOINT 2
7 3 842 523 508 Corner_Broacket 20x20 4
B e | e wo e | o
SURFACE FINISH: EDGES
TOLERANCES:
LINEAR:
[ ] NAME SIGNATURE DATE TITLE:
DRAWN
CHK'D
IAPPY'D
A WG
- "MESA01.A.000-V2 | *
SOLTDWHRKS Educa Jrin‘nnl Product. . 7 V"g" ““"‘58 | ESELL
For Instructionat Use dnty.




_ 9,50_
20,0
o \0 9 ]
I \
fffff )|
L <
|
,,,,,,,,,,,,,, o
. > S
23 N o .
N CZ“ < L _
D ! b | |
200 451 |
- 300
C
B
OB R ™ B o0 s
SURFACE FINISH: EDGES
TOLERANCES:
LINEAR:
| ANGULAR:
NAME SIGNATURE DATE TITLE:
DRAWN
CHK'D
APPV'D
A [we
0A MATERIAL: DYG NO. A4
AL7075-T651 MESA01.P.003-Joint
WEIGHT: SCALEH | SHET4TF 14

SOLIDWORKS Educeftional Prioduct.

3 c | l

For Instructional Use Only.




4 3 C [
F
N 50,
i
T o —
E o N
‘LQ T T T T
‘ 1 2
- 300
D T T
\ HEE ]
| |
=
~
N o
N 0|
™
q
C—UV Jay
N
|
C
B
Pire U i A ek Same D0 NT SCALE. IRAVING REVISION
SURFACE FINISH: EDGES
TOLERANCES:
LINEAR:
L ANGULAR:
NAME SIGNATURE DATE TITLE:
DRAWN
CHK'D
APPV'D
A [we
0A MATERIAL: WG NO. A4
AL7075-T651 MESAOLP.004-Joint
WEIGHT: SCALEH | SHETSF 4
SOLIDWERKS Educaftional Prioduct. 3 R | [

For Instructional Use Only.




9,00

T

|

|
[

SURFACE FINISH:
TOLERANCES:
LINEAR:
ANGULAR:

EDGES

A () |
et |
> N =
F o b= | <
| ™ [ _ _
i
4 r
g
2 )
o0 S 1
()
N NS
N (N2 S
| Lo Lo |
| | | | ‘
UNLESS OTHERVISE SPECIFIED:  |FINISH DEBURR AND
DIMENSIINS ARE IN MILLIMETERS BREAK SHARP D0 NOT SCALE DRAYING REVISION

NAME SIGNATURE

DATE

DRAWN

CHK'D

APPV'D

A [we

TITLE:

QA

MATERIAL:

AL/7075-T651

o Mesa(01.P.005-Joint

A4

WEIGHT:

SCALE:H

| SHET 6 OF 14

SOLIDWORKS Educeftional Prioduct.

3

2 |

l

For Instructional Use Only.




- 9’5 —
E

I \k e
4 N o |
T =3 | ] o
[ | =
" = I 2ol k

M Py ~ B

N N & L

| | |
) 2000 75
- 450

UNLESS OTHERVISE SPECIFIED:  |FINISH: DEBURR AND
DIMENSIONS ARE IN MILLIMETERS BREAK SHARP D0 NOT SCALE DRAYING REVISION

SURFACE FINISH: EDGES

TOLERANCES:
LINEAR:
ANGULAR:

NAME SIGNATURE DATE TITLE:

DRAWN
CHK'D
APPV'D

A [we

0A MATERIAL:

AL7075-T651 " Mesa01.P.006-Joint

WEIGHT: SCALEH | SHET7TF 14

SOLIDWORKS Educeftional Prioduct. 3 2 | l

For Instructional Use [nly.



i
T [ 22,0 ‘
() ()
< 1 | oo
[qu] (qU] (=1
a s 3
| ,
vl
Bae
= Y
150
- 250
60,0 — SECTION A-A
|- 42,0 -
——I——I—Mi
ml | I =
o ] | |
B 74 \ /
I
SECTION B-B
S T [ SEM | womes | eem
SURFACE FINISH: EDGES
TOLERANCES:
LINEAR:
ANGULAR:
NANE SIGNATURE DATE TILE:
DRAWN
CHK'D
APPV'D
MG
o MATERIAL: DYG NO. A
A7075-T651 Caixa-Rolamentos
VEIGHT: SCALEH | SHETBTF 14

SOLIDW

For Instructional Use Only.

R

KS tduceftional Prioduct.

3

l




35,0

A% I ‘A
RN

N
Chamfer 2x2 45/

N
23,0

- 260
- M10 -
| ® 45
|
S}“ (Ll A1 [
Sl
A «
1
C ¢ 18.0 Chamfer 1x1 45°
SECTION A-A
: : DEBURR AND
ﬁﬁ‘ﬁgﬁéu'ﬂé”iiﬁ'?ﬁ bSATLELcllbiEIEEDRs FiNsH BREgK SHERP D0 NOT SCALE DRAYING REVISION
SURFACE FINISH: EDGES
TOLERANCES:
LINEAR:
ANGULAR:
NAME SIGNATURE DATE TILE:
DRAWN
CHK'D
APPYV'D
A [we
o NATERIAL: DYG NO.
Bronze Fosforosa Porca-Casquilho
WEIGHT: SCALEH | SHET9F 14

SOLIDWORKS Educeftional Prioduct. 3 2 | l

For Instructional Use [nly.



4 3 C |
F
L )
150 00 . o >
4
)
A
= : I/ D\
= — N @
1S e ©
1 g ]
] o120 |
- 53,0 _
D
C
B
DUENSIINS AR I MLLDETERS | B SHaRe DO NOT SCALE DRAVING REVISION
SURFACE FINISH: EDGES
TOLERANCES:
LINEAR:
L ANGULAR:
NAME SIGNATURE DATE TITLE:
DRAWN
CHK'D
APPY‘D
A [we
0A MATERIAL: DWG NO. .
Aco C45 Lixo-Traccdo
VEIGHT: SCALEH | SHEET 0 F 4
SOLIDWERKS Educaftional Prioduct. 3 R | [

For Instructional Use Only.



SOLIT

For

8 B 4 3 e {
F
2610
E f=1
D
‘%_—
/3
g b ==L
C
20,0 20,0
SECTION e
B
e ERYISE SPECRIED ¢ NSk e 00 NOT SCALE. IRAYING REVISIN
SURFACE FINISH £
T?.}szﬁf[&
NAME SIGNATURE DATE TITLE:
IRAWN
A S
0A MATERIAL: DVG N0 . A3
aL7075-1651 | Barra-Tracgdo
\ADPKQ Fr\!u'r'n ‘|’ir‘1‘nn| P'V‘rm!”'rt . 1 wngn | SCALE:I:IB | [s4ET 12 0 14
nstructionat Use dnty.




47,15

80,00 _
o
) o
. 60,00 N
=T
LM
Ne}
@ o
o =
N~
&
A
| |
o & | |

47,15 ‘

4 x® 5,90 THRU ALL

TOLERANCES:
LINEAR:
ANGULAR:

UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:

DEBURR AND
BREAK SHARP
EDGES

DO NOT SCALE DRAYING REVISION

NAME

SIGNATURE

DATE

DRAWN

CHK'D

APPV'D

A [we

TITLE:

QA

MATERIAL:

AlL7075-T651

DVG NO.

Chapo-Fixacao

A4

WEIGHT:

SCALE:H

| SHEET 11 F 14

SOLIDWORKS Educeftional Prioduct.

3

c | l

For Instructional Use Only.




SOLIT

For

8 7 4 3 2 {
F 318,00
D
S
N
%%
3 ~ Y: ~
D
298,00
L [ 1
3F

C
B

'a'?k»f?. &l;{:;!lslﬁ %f n%gm FINISH ﬂ?&“swp D0 NOT SCALE DRAYING REVISION

TI].[RM[& FOES

NAME SIGNATURE DATE TITLE:

AN

eres
A WG

0A MATERIAL: DVG NO. A3

A7075-T651 Mesa0l.PHastes

WHRKS l»_r\!u,r'nﬂm‘nnl Prng;hmt . wngn ‘ SCALE:I:IB ‘ EGEEE
nstructionat Use dnty.




